


























Ill) B u c =: 12, 3, 4, 5, 6 8 I 

h) BUB =12,4,0,8\=IB\ 

(Au B) u c = I I, '· 3, 4, 6, B I 0 13, 4, 5, 0 I 

= jr. 2, 3, 4, 5, 6, s I 

Au (B u C) = I'· 2. 3, 41 0 I'' 3, 4, 5, 6, 8 I 

= II, 2, 3, 4, 5, 6, 8 I 

:. (AUB)OC= AU (B O C) 

(H)JI-:o 

i) AOB il) AOC ill) BOC 

(A 0 B) 0 C = A 0 (8 0 C) 

I) A0s=l2,4! 

11) AOC= IJ,4j 

iilJ s n c = I 1, 6\ 

lvJ B n n = 1 2, 4, 6, s I = l s I 
(A o s) o c = 12. 4,1 n 13, 4, s, 6 ! = I 4 I 

A n cs o CJ = 11. 2. 3, • l n I 4, 6 l = I 4 \ 

,·.(AOB)OC= AD(BOC) 
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